o

x_

ERINZ / Components

No. £ / Part name = / Pcs #E / Material - REAE / Color:Finish
1 | EHn— 1 #IRMEABSHIE ULI4V-0 17804, 77799
Top cover Flame-resistant ABS UL94V-0 Off-white , Black
2 | THhi— 1 R MEABSHIAE ULI4V-O0 TIH94b , 759
Bottom cover Flame-resistant ABS UL94V-0 Off-white , Black
3 |[EitO%H 1 R MEABSHIE ULI4V-O TIH94b , 759
Battery cover Flame-resistant ABS UL94V-0 Off-white , Black
. TRk / Gasket 1 21)ar3 L / Silicone 7= / Blue
® 0124 / Oring 1 )23 L / Silicone 7'~ / Blue
HART )T 2 ISR 7799, AN V=, #E=T =, Lyb, {10
Side grip TPE Black , Light gray , Navy , Red, Yellow
7 |ETBHIEE R(M2.5 x 8 +A") 1 AT R SUS304 mANIE
Battery cover screw (M2.5 — 8 Pan head) Stainless steel SUS304 Unfinished
8 HUTE R (M2.5 x 10 7A7) 6 AT2L A SUS304 ANLIR
Screw (M2.5 — 10 Pan head) Stainless steel SUS304 Unfinished
9 | &EthinF / Battery contact 1set BHpS5, FEHER / Brass, Hard | =97 Av% / Nickel plated
) 7
3
5
8
9
2
6
4
1
W79 =h)LT—74 / Technical Datall
{REEZR / Protection class: IP67
T ithiE1E / Battery Type: AAx 2
14 (BUFEKREDOO) / Color Type (End of product number[11) {EF;EE 13 / Operating temperature: —10°C ~ +60°C
585 / Code —2X & / Case color H AR5y T / Grip color #E{ThILY / Recommended torque: 0.2N*m ~ 0.3N*m
BB 75v9% / Black 7597 / Black
BL J5w4% / Black SA4kJL— / Light gray ARESS I HIBREOBIFE SRR INF BT ECRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.
BN 75v% / Black FAE—TJL— / Navy 4/ Title
BR 93v% / Black LwE / Red [TAKACHI| #HXa#tahFEHTE P67 BEIK/\URAJILR—R (} G
BY 9597 / Black . ’ff':'_ / Yellow TAKACHI ELECTRONICS ENCLOSURE CO., LTD. IP67 HAND-HELD ENCLSURE —
L AT Ak / Off-white 77\y7\‘ / Black AR/ Approved 1% X]/Checked #[X]/Created FIE /Product number =/veae
WL ZFI7RT Ak / Off-white S48 L— / Light gray 1:15
WN A IRT Ak / Off-white FAE—T JL— / Navy . WH145-25-M2-[101
WR ZI/RT Ak / Off-white Lk / Red B x - 1/ 4
WY AIHRTAR / Off-white AI0— / Yellow fERLH/Date 2022/11/24




146

123.8

49.4
!<— B

A /

"\:/ ! \ —

8-R2.4 u
|
(N | b,
|/ —
<— B
65.8
88
A-A(1:15)

<t v

4-C4.4

AnY

a

15

25

B-B(1:15)
18
35
125 4-R2
e 2
| ~& &Y
1
1 [ 0 ‘ \
5
5
©
3 3 «
N ;
8 n
7
@f%
1 4
15 0.6
4 /Title

BRASHIHFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 FHIK/ N KA ILES—R
IP67 HAND-HELD ENCLSURE

o]

A& 8/ Approved

#%[X/Checked

FFHt

I /Created

T

#IZ /Product number

WH145-25-M2-[10]

RE/Scale
1:15

YEBL B /Date 2017/02/07

2 /7 4




EH/\— / Top cover

111 1T

| W )
~

T B T
@\ | / il
1 / \/ B

143

]
5

=
a—rX

~—
- —

1AL

I\ ]

B-B(1:15)

/5

—

4.8

JN~t3% / Max dim. 124.1

%

ol

4-M2 3R EREUFAR R

4-M2.3 Boss
HREARBEIK *x RELTOEEA
55 6-@8 Recommended PCB dimension * NOT SUPPLIED
< R6
= 43
o 4-@2.5
r
|
7 X4
N[ PR
Tp) Tp) & G
<~ | ©
Lo
©
o N
<  ©
L C: G: g
[9p]
S 55
69
H%h~Fi% / Max dim. 68.3
A /Title

BRASHIHFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 FHIK/ N KA ILES—R
IP67 HAND-HELD ENCLSURE

o]

RE/Scale

A& 8/ Approved

#%[X/Checked

FFHt

I /Created

T

#IZ /Product number

WH145-25-M2-[10]

1:15

YEBL B /Date 2017/02/07

37/ 4




T #/\— / Bottom cover

I

145

B-B(1:15)
Vi
0
<
S8
i
20
0.6

<% / Max dim. 66.6

)]

ol

15

4-M2 3R E R BT AR R

4-M2.3 Boss
FATER/ Maxdm. 093¢ HEEARRR « RALTLELA
55 Recommended PCB dimension * NOT SUPPLIED
o) (o) 43
N/ N/ ||| o 4-32.5
r 7
| |
S/ \J
0 | B P
< | © Y S
[p]
©
[T} N
<+ | ©
< ¢
(9]
B 55
69
4/ Title

BRASHIHFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

IP67 FHIK/ N KA ILES—R
IP67 HAND-HELD ENCLSURE

o]

A& 8/ Approved

#%[X/Checked

FFHt

I /Created

T

#IZ /Product number

WH145-25-M2-[10]

RE/Scale
1:15

YEBL B /Date 2017/02/07

4/ 4






